For the following exercises, write the equation for the hyperbola in standard form if it is not already, and identify the
vertices and foci, and write equations of asymptotes.
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For the following exercises, write the equation for the hyperbola in standard form if it is not already, and identify the
vertices and foci, and write equations of asymptotes.
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For the following exercises, write the equation for the hyperbola in standard form if it is not already, and identify the
vertices and foci, and write equations of asymptotes.

—9z% — 54z + 9y — 54y + 81 =10



For the following exercises, sketch a graph of the hyperbola, labeling vertices,

foci, and asympotoes.
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For the following exercises, sketch a graph of the hyperbola, labeling vertices,
foci, and asympotoes.
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For the following exercises, given information about the graph of the hyperbola, find its equation.

45 . Vertices at (3,0) and (—3,0) and one focus at (5,0).



For the following exercises, given information about the graph of the hyperbola, find its equation.

Center: (4,2) ; vertex: (9, 2) ; one focus: (4 + 26, 2) .



For the following exercises, given information about the graph of the hyperbola, find its equation.
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